Maytag XAV13PRBWW 01 - CONTROL PANEL

Maytag Residential Maytag XAV 13PRBWW Washer Parts Parts Diagram 01 - CONTROL PANEL
Click on the part number to view part

Item Original Part Number Replaced By Status Part Description
001 NLA Not Available PANEL, CONTROL (WHT)
002 215506 Screw, Control Panel Overlay
003 NLA Not Available WIRE, GROUND
004 206808 W10135389 igzgn?;t;m (A ST
" 215527 W10140652 Screw, 6-20 X 1/2
005 215517 W10131113 Push Button
006 22002347 Switch Brkt And Back Brkt
" 22002354 Screw, Back Bracket
007 NLA Not Available SWITCH, PRESSURE
008 22002743 22003422 Hose, Air Dome
" NLA Not Available o L PRESSURE SWITCH
009 33001957 Console
010 22001996 3370225 Screw
011 215003 Fastener, Panel And Bracket

012 22001960 Transformer


http://www.pwslaundry.com/c-503871-residential-maytag-xav13prbww-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10412916-maytag-215506-washer-dryer-screw-control-panel-overlay.html
http://www.pwslaundry.com/i-10406418-maytag-w10135389-washer-push-button-and-switch-assembly.html
http://www.pwslaundry.com/i-10413030-maytag-w10140652-washer-dryer-screw-6-20-x-1-2.html
http://www.pwslaundry.com/i-10412993-maytag-w10131113-washer-dryer-push-button.html
http://www.pwslaundry.com/i-10406304-maytag-22002347-washer-switch-brkt-and-back-brkt.html
http://www.pwslaundry.com/i-10412718-maytag-22002354-washer-dryer-screw-back-bracket.html
http://www.pwslaundry.com/i-10403519-maytag-22003422-washer-hose-air-dome.html
http://www.pwslaundry.com/i-10410829-maytag-33001957-washer-dryer-console.html
http://www.pwslaundry.com/i-10414301-maytag-3370225-washer-dryer-screw.html
http://www.pwslaundry.com/i-10412725-maytag-215003-washer-dryer-fastener-panel-and-bracket.html
http://www.pwslaundry.com/i-10410772-maytag-22001960-washer-dryer-transformer.html

014 22001419 Nut, Transformer

016 912077 Locknut, Reader Harness

018 NLA Not Available HARNESS, MAIN WIRE

020 211252 Screw, Ground Wire

022 215527 W10140652 Screw, 6-20 X 1/2

" 22001973 Harness, Pr Service

025 206824 W10133335 Relay, Motor

027 212716 Bumper, Lid



http://www.pwslaundry.com/i-10414301-maytag-3370225-washer-dryer-screw.html
http://www.pwslaundry.com/i-10412657-maytag-22001419-washer-dryer-nut-transformer.html
http://www.pwslaundry.com/i-10412937-maytag-912077-washer-dryer-locknut-reader-harness.html
http://www.pwslaundry.com/i-10412889-maytag-33001204-washer-dryer-stand-off-ccontrol-board.html
http://www.pwslaundry.com/i-10410836-maytag-22002954-washer-dryer-deflector-water.html
http://www.pwslaundry.com/i-10412658-maytag-211252-washer-dryer-screw-ground-wire.html
http://www.pwslaundry.com/i-10412659-maytag-215526-washer-dryer-screw-circuit-board.html
http://www.pwslaundry.com/i-10413030-maytag-w10140652-washer-dryer-screw-6-20-x-1-2.html
http://www.pwslaundry.com/i-10412992-maytag-w10131114-washer-dryer-cover-display.html
http://www.pwslaundry.com/i-10410839-maytag-22001973-washer-dryer-harness-pr-service.html
http://www.pwslaundry.com/i-10410835-maytag-22001976-washer-dryer-bezel.html
http://www.pwslaundry.com/i-10408988-maytag-w10133335-washer-dryer-relay-motor.html
http://www.pwslaundry.com/i-10409550-maytag-212716-washer-dryer-bumper-lid.html
http://www.pwslaundry.com/i-10410887-maytag-33001856-washer-dryer-reader-harness-kit.html

	Maytag XAV13PRBWW 01 - CONTROL PANEL

